pa > I > / , 24 N L ) By . \ _ g g
103# # a4 3# 4 > Fopa a4 B 4333 s cosaae0 BT
(L&)
w2 ETF
) R L
i 2 Iﬁi;‘é%'f;‘
TEER 2@ oA
MLR OB LR TIPE R
OF L3R (TEFFRRIASE PR RREA B ARL Y N ABI L FEE > A3 A o

|

i

T & T ik~ & (grammar)

expression — expression + expression | expression - expression | type

type — int | double
Slik/ SR SR I o
ORI o222
expression — & type :
Exfm o3 g 5 ¥

PRERERARE R DT E
IR =W A Va2

7 2 B type z

s 4

int + |nt+ int % B 7 fe e 478 (parsing tree) o
3‘_% l—]l r-v \/’.’\' éd
% int> 5’— type % double - (10 4 )
e+ ;2 (ambiguous grammar)

=
bl =
N

(10 ~)
expression 1% % o

>3
EY

(54)

P%-'&r BimeF o T

’
%
i/b_'E

O HDFS &~ > ¢ » #
O MapReduce e 4 2
@#EP NOSQL thx =~ > &2 H

I

\T ~RBEARAFEREEL . (84)

Map = Reduce 138 it 5% o (8 4 )
B (94)

I,( ;}'ﬂ = %r‘} ’
Ei: (manager) #-k £_40000 >
int getPay(String employeeType) {
if (employeeType ==“manager”) {
return 40000;
else if (employeeType == “engineer”)
return 35000;
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public static void inputScore () (1) {

String str;

boolean valid;

double score = 0;

Scanner sc = new Scanner(System.in);

do {
valid = true;
System.out.printin("Input the score™);
str = sc.next();

try {
score = Double.parseDouble(str);

Yeatch(___ (2) ){
System.out.printin(e);

valid = false;
¥
Ywhile(__ (3) )
if (score >100 || score <0) throw (4) (& B A A >t 0-100 FF;

System.out.printin(score);



